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X:=1:
d:=2*Xx;
writeLn(x, d);
X = 2;
d=2*Xx;
writeLn(X, d);
X = 3;
d=2*x;
writeLn(x, d);

d:=2*x;
writeLn(X, d);




var
X, d: real;

begin

X:=1;

while true do
begin
d:=2*X;
writeLn(x, d);
X:=X+1;
end;

end.
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while

Pascal while

while do

answer = ‘yes’ X <= 20
true false

begin end



program Double(input, output);
var

d, x: real;
begin

X :=1.0; d 20.0

while x <= 10.0 do X 11.0

begin
d = 2.0*x;
writeLn(x:6:2,d:6:2);
X:=x+1.0;
end:;

end.




r h

V = a1 °h
A

A=2xr°+ 2zrh = 1000
ath = 500 — 71 °
.V =500r — zr°



program CyllinderVolumes(input, output);
var
r, V:real;
begin
r.=1.0;
while r <= 10.0 do
begin
V := 500*r - 3.14159*r*r*r;
writeLn(r:8:2,V:8:2);
r.=r+1.0;
end;
end.
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savings monthint
Pascal

savings := savings + savings*monthint
+ payment;



1. payment
2.savings = 0 monthint = 0.01 12%

3. O
savings := savings + (savings*monthint) +
payment;



program Savings40Years(input, output);

var
payment, savings, monthint, month: real;

begin

writeLn(’ ( );

readLn(payment);

savings .= 0; monthint := 0.001; month :=1;
while month <= 480 do
begin
savings .= savings + (savings*monthint) + payment;
month := month +1;
end,
writeLn('40 ','savings:10:2, ";
end.
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=6 V =500x 6 —3.14159 x 63 =2321.42

r=6.01 V = 500x% 6.01 — 3.14159 x 6.01°
= 2323.02

r=6.02 V = 500x 6.02 — 3.14159 x 6.023
= 2324.61
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program FindBest(input, output);
var
r, V, previousV, increase: real,
begin
writeLn('r ;
readLn(r);
writeLn(' r ;
readLn(increase);
previousV := 0;
V:=500*r-3.14159 *r*r*r;
while V >= previousV do
begin
r:=r + increase;
previousV =V,
V:=500*r-3.14159 *r*r*r;
writeLn(r:10:2,V:10:2);
end;
writeLn('V ', previousV:10:2);
end
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MillionDollarAnswer

program MillionDollarAnswer(input, output);
var

payment, increase, savings, monthint, month: real;
begin
writeLn(' ;
readLn(payment);
writeLn(' ;
readLn(increase);
savings :=0;




MillionDollarAnswer

while savings < 10000 do

begin

payment ;= payment + increase;

savings = 0;

monthint := 0.01;

month := 1;

while month <= 480 do
begin
savings .= savings + (savings*monthint) + payment;
month := month +1;

end;
write(’ ', payment:10:2, " )
writeLn(' ','savings:10:2,' Y
end;
writeLn(payment:10:2, ' 1

end.




